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1. Select the alternative that logically
- follows from the two given
‘‘statements, but not from one

statement alone.
‘Statement—I

: All cooks are
drivers. e

- Statement—II : All drivers are
dancers.

(a)
ib)
()
(d)

All dancers are drivers
All cooks are dancers
No cook is dancer
Both (a) and (b)

2. In the question below, there is one
main statement followed by four
answer choices. From the answer
choices, select the one that
logically follows the main
statement :

Main statement : If movie is a
superhit, then I watch it.

(a)

[ watched a movie means it is
a superhit

(b) The movie is a superhit.

Hence, I do not watch it

I did not watch a movie,
though it was a superhit

(c)

I did not watch a movie
implies that the movie was not
a superhit

(d)

Rohit’s mother is the only
daughter of Mrinal’s father. What
is the relation between Mrinal’s
husband and Rohit?

: (@) IS
(a) Uncle

) Father (b) fugr
() Grandfather fo) ==
(d) Brother (d) gdr

,1.@31‘%’3’&{@?{3@’;@3%%@
T = gEet 3 user 9= J, U
fead o ams 3 a1

SEE—I : 9 9« SIEIed Ia!
FEG—II : A3 Saeied STHY Ja|
(a) W' STHI STEILT IS

(b) H'S I FHI IS

© TH & I sHT ad I=r

(d) =T () »3 (b)

It 133 wes f&e, QWY qE6 9|
fan 3 e 99 7Y fIsu 61
7oy feagut fa9, fEa ¥ ° 399
58 WY J86 & USET JgeT JI
HY 5 : Ad9 fesH muafde 9, 3
# femd Swer gf
() # fea fesw =t ¥ w3y fx

feg musfie 9

(b) feBH wusfie gft 91 fem o,
H fend adf Suer

() H €t fewn off 2, Taifx
feg muafie |

(@) # feor aff ot few o 1wy
ﬁﬁfam{guaﬁgﬁm

3. 3T A AEs T fugr o fegad

forsT J2 =

(2)
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[ 4.

All the six members of a family A,

B, C, D, E and F are travelling. B

is the son of C but C is not the
mother of B. A and C are married

to each other. E is the brother of

C, Dis the daughter of A and Fis
the brother of B. How many male
members are present in the
family?

4. g ufgeg @ A9 & #99 4, B, C,

D, EW3 FW3J 99 9J I6| B, C
TUYII I YT ¢, Bt i s 3, A
w3 cfex g7 58 feurd 38 T E,
CT 3T JI D, At ft 3, M3 F, B
T 997 J| Ufgerg 39 fofs Hae Heg
J57? '

(@ 1 :
(@) 1
b) 2
(b) (b) 2
© 3 © 3
(d) 4 () 4
5. Which of the following fractions is . It &3 wimt fe9 fagg™ W9 € &7
the smallest? I7 -
(@) 3/5 (a) 3/5
nx&
(b) 3/13 4b) 3/13
() 3/7 () 3/7
d 3/8
_ . foa =99 &9 180 AY © T3,
6. In a garden there are 180;%%12 016 g 2 TS MI 324 T T
trees, 216 mango trees an E e ey it b
banana trees. They are arranged Toug I fegst § w a39 {9
in ‘n’ rows in such ahmanner fon 3fta 5% feenfas iz famr &
that each row has the same _ MRy .
number of trees and Of the same fa 9= EEUFH feg fea-fAg w3 f%a
variety. Find the minimum value fSAH @ 343 T6. nor ﬁS@?)'S’H )
of n. o
(@) 20 @ 20
(b) 36 - (b) 36
() 12 (c) 12
(d) 15 (d) 15
801/14-B (3) [P.T.O.



7. A man travelled a total distance

of 1800 km by plane, train and
bus. He travelled one-third of the
~whole trip by plane and the

distance travelled by train is
three-fifth of the distance travelled
by bus. Find the distance travelled
by bus.

(@) 450 km

(b) 850 km

() 1200 km

(d) 750 km

. If a and b are positive numbers
satisfying 30% of a = 40% of b,
then by what percentage is a
more/less than b?

(@) 50% more
(b) 33 % more

(©) 33 % less

(d) - 50% less

. ‘A farmer buys 240 cows. He sells
some of them at a gain of 20% and
the remaining at a gain of 30%. If
he gains 28% on the whole, then
how many did he sell at a gain of
20%?

(a) 48

(b) 40

(c) 54

(d) 28

‘D\‘)&W&/\«SSQ'M (31200 RHTe

8. HId a3 b HIATSHA F“rfuwe*"as

-fﬁaf&rﬂ"?szz;oare*uaﬁegvél 6]

38 HeT ¥ 0804 ar

figrl GFs ydt wrsar = fed
W3 35 owrgr Aed gl g EH
onrg Feg it gt = fde-UEe
£ 1 SR oorar wST S T
o yIT BIG :

(a) 450 fadHted

(b) 850 fa&Hiea

Ad) 750 fa@Htes

7 a¥ 30%=b¥ 40% & HIAS

aa—tﬁnﬁas.?a,bé*ﬁ;r@ﬂg
&8 Tq/ule Jur 99

(@) 50% =g

(b) 33%% =g

o) 33Y%% ufe

(d) 50% uTE’

@?ﬁﬁgg?m%%wméw
30% ¥ B9 '3 Tgmr ¥, a9 O

B"es'ﬁrzrszrr%r-,z:+
8Hs 20% 2 ERCTITON

() 48
(b) 40
(¢ 54
(d) 28

S01/14-B (4)




10. Read the information carefully 10. eadt & fors &5 ug w3 IS
Anc.apenthe question that &3 wers o we fof) fUsd 7S
ollows. In which of the countries 5 S g 3
was the production of cars S - 2008%’? _,%H feg
increased by less than 5% in 2008 It ¥ G3us @9 5% 3 We =T
over last year? Jfent Ht?

Country| (in 000 tonne) 29 | (in 000 tonne)
2007 2008 di o 2007 2008
India 700 760 g'd3 700 760
i — s Eil) 19706(2) 1984600
China 1760 1860 ‘
HUTS 1500 1580
Japan 1500 1580 e 1166 1918
Italy 1160 1218 o T
a
() India o)
(b) China .
(c) Japan ()
(d) USA (d) »HIter
11. 7readt 3 frs &% ug w3 I

11. Read the information c':arefully 3 F=% °F 799" foG| feg gt
and answer the quest'lon that B Bt § O S-Sy fefipr
follows. The table gives the ] Lk e o
students studying five different ug*é’r\aao n IEIE.WGUW 3 fodt
disciplines from five institutes. 3 79 07 Anger @9 IHIR <
What is the average gumbefr o uget 995 T8 fefonradnr &
students studying Commerc - R T A
across all the five institutes MHS 7
together? Gy WEHAS

Institute Disciplines wraz | avew | wfém | Wewie | e

' Art |Commerce| Science| Management| Computer| wféR
Sdence A [350 | 260 | 450 | 140 | 300
A |350 260 | 450 | 140 L0 B [240 | 320 | 400 | 180 320
B__[240 320 | 400 | 180 229 1460 | 300 | 360 | 160 380
C 460, 300 360 160 380 D 440 | 480 420 120 340
D [440f 480 [420 | 120 | 340 £ 280 | 360 | 340 | 200 | 330
E 280, 360 340 200 330 =i
(a) 344 (@) it
(b) 320 (b) )
9 2 (:1) 354
() .354 o [P.T.O.
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Instructions : (12-14) Go through gaefesT: (12 - 14) T, Jst fe3 3@3?

the data set given below and answer fz '3 G w3 feAe WUd '3 YRS 3
" |the questions based on it. 859 =6

Following pie chart shows the - 0 S H-Fy
break-up of employees working in JsmT Ut 979¢ i AmET )

various departments of an fegrart f&9 IH F9< SGHIIAT < break-
organization. Table provides the ratio up § SO ¥ Aot nigat »i3 HIwE

of men to women. It is given that Total St 1 feg Sfimr far
Number of Employees is 1800 in the = s

izati 3 fy HrEr i goHEdt & 98 Hitmr
organization.
1800 J|
Percentage Break up of employees Percentage Break up of employees
Marketing Dept. Account Dept. ‘| Marketing Dept. Accoun:cI Deptﬁ. W
18% ~—~_ 17% 18% ~—_. 17%

2 Production Dept. :
s 2 0,
IT Dept. Gt o 28% IT Dept.
23% 23%

Production Dept.
28%

14% 14%

b

Ratio of Men HITT w3 wigat
Departments TR nomen : fegmar = e
Men Women , HIE N,
R . YT |
ccounts
Department 2 7 I<gTaT 2 7
Production i
Department 11 1 fegmar 11 1
A wrg
HR Department| 1 3
e 1 3
IT Department | 5 4 i v A R
Marketing == s 4
Department 7 o HrIeftfdar T T
i 7 5

e 6 ————
S01/14-B (6) __




- ..12.

13.

14.

What is the number of men
working in the Marketing
Department?

(a) 132

(b) 174

() 189

d) 126

The number of women working in
the IT Department of the
Organization forms approximately
what per cent of the total number
of employees in the Organization

from all Departments together?

(a) 10%
(b) 7%
() 5%

(d) 15%

What is the respective ratio of the
number of women working in the
HR Department of the
Organization and the Total
number of employees in that
Department?

(@ 3:7
(b) 2:5
() 2:9

(d 3:4

12. H3d{fear fagmar f&g a1 96 =8

Hoe' ot faedt fdat 92
(@) 13.2
(b) 174
© 189
(d) 126

Hass © IT fegr fé9 dH 958
T wigzt <t witmr, A9 fegmar
WS & Harss fe9 gaHTdht <t 95
At =T, Saear fdat yFiRs gt
J?

13.

(a)

(b)

14.

801/14-B

(7)

[P.T.O.




l16.
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15. Who was appointed as the new

17.

Chief Minister of the State of
Chhattisgarh in December 2023?

(a) J.P. Nadda
(b) Vishnu Deo Sai
(c) Mohan Yadav

(d) Biswabhusan Harichandan

Angad Vir Singh Bajwa and
Ganemat Sekhon is associated
with which sports?

((a) Shooting
{b) Cricket
() Football

({i) Chess

The Personal Data Protection
(PDP) Bill, 2019 was framed on the
recommendations of a committee.
After several iterations and
hearings, both the Lok Sabha and
the Rajya Sabha introduced and
later passed the Digital Personal
Data Protection Act, 2023. Which
committee framed the
recommendations?

(a) Kirit Parikh Committee
(b) B P Jeevan Reddy Committee

(c) B N Srikrishna Committee

(d) Bibek Debroy Committee

17.

UIHEE 32T Yedws (PDP) 53,
2019 feq sAd St faggr 73

2023 ¥™H 37| fam gt 3|
fAETaw fanmg s o
() fadfte wigy s
(b) it Hies 3 i
(©) 75 s it
(d) fa9a JgT® Tk

(8)

N S

;
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18.

19.

20.

The Supreme Court of India
declared the Right to Privacy as a
fundamental right in which of the
following cases?

(a) Kesavananda Bharati vs.
State of Kerala

Justice K.S. Puttaswamy vs.
Union of India

(b)

SR Bommai vs. Union of India

AK Gopalan vs. State of
Madras ~

()
(d)

Who is the current President of
Egypt, having won . the
presidential election for the third
time?

(a) Abdel Fattah El-Sisi

(b) Mohamed Morsi

(c) Paul Kagame

(d) Sedki Sobhy

Rht13, which was seen in the
news, is a semi-dwarf gene of

18.

19

20.

993 & Ag=CEY niEs3 B I fod
&S fam am 39 féasT € wiftaa
Higa wiftarg =4 Wfag dis7?

(a) SHISE FISt I&H IS IH
(b) « AAfeR .. UoA=Ht To™H

93 &t gas

(c) SR ¥HEl ga™H 9733 It Yaa|
(d) T d IS §&H HEI'H IH

fiAg = Wger gHedudt d€ 97
(a) IS IT MB-HIH

(b) HIHE HaHt

(€) U™ IarH

(d) Rt Rt

Rht 13, 1 fg ygat feg Sfuwr famr
Ht, faodt eng @ nigu-s #is T2

which crop? (a) ¥
(a) Rice (b) I
(b) Wheat " (o) ST
(c) Cotton . d) T
(d) Jute
21. In December 2020, which Indian 21. THE9 2020 <9, fan g9t dUat 5
company secured a contract to gagft Fhod™ H3T® 35 AHS3
deliver 10 Lynx U2 fire control WEHd g9t 7S = rou ?:; 10 Lynx
systems to the Ind%an Navy as per U2 afeq de58 fier fsdtes 995
the agreement with the Indian
Defence Ministry? = feggraaHT TS 3T 32
(a) Hindustan Aeronautics (a) ﬁ’g‘ﬂ?’ﬁ tndafean fathes
Limited (HAL) (HAL)
(b) Bharat Forge Limited (BFL) (b) 993 dau fsfHes (BFL)
(c) Indian Ordnance Factories (© waft aSeH Sacdid (IOF)
(IOF)
(d) Bharat Electronics Limited (d) 793 f’E@HE\TfKa‘H’ fafhey
(BEL) (BEL)
. S01/14-B (9) [P.T.O.



22. COP28 hosted.cby th 22, cop28 <1 AmETsl HOAS Moy
. was 0Ste y . e V-0 2023
Government of the United Arab é’r Adag 2d'd’ =0
Emirates in 2023. What does COP S aet” 't ABeg IACE! §
stand for in the context of climate v g9 59 "FCOP o7 ol »dg J7?
change? , 8
(@) Conference on Population () z_,r ¥
(b) Council of Politics (b) B vt : ft aBeaH
c) Conference of the Parties (Z)u i % o-
(d) Convention on Pollution () ]E f
| . s
23. In which national park were eight 23. fam’ LJFH?EH y3a <9 KESIE
African cheetahs ‘translocated Gﬂ?ﬁ;gﬂ-ﬂw g yfgdt =9 »39-
from Namibia in the first-ever Hohft et Hi= g\ﬂ'ﬂ‘g‘aﬂ'ﬁ f&g
intercontinental . - wildlife i : :
translocation? _ IS o3 IE AE?
(a) Gir National Park ; (2) ﬁiﬁ SHES US|
(b) Kuno National Park (b) Fo EEHE;B urgd
(c) Ranthambore National Park (c) ITET SHES U
(d) Kanha National Park (d) d™Bd SHES U
24. Ozone depletion is caused by the 24. G5 & D _ ¥ Ymg R T
increase in level of 95 E_Eﬁ %fl
(@) water vapour (a) Ud Ft =
(b) oxyeen | (b) WG
(c) chlorofluorocarbon (c) aﬁﬁ%’@%ﬁ"‘d&?’i
(d) carbon monoxide ([d) 995 AU
28 Council for Medical Researan | 2> "o 2023 RS, fédfins s ¢
(ICMR) granted the State of Kerala, BEICt: faRgS (ICMR) 3 398 77 ¢
permission to }c;onduct Truenat EE En:m—glg-r fag EEI%E e HEI'E"'@E
tests in certain hospitals. Truenat =t foam
tests are used to detect which fsm TT:’E?H E’Gﬁ oret df ﬁ
infection? SCIE) ET y3Ir BHF@E el
(a) Nipah @) ik :
: a ﬁW‘U’
(b)  Tuberculosis : i
» (b) &t ft
(c) Dengue . A
(d) Malaria T ay]
| (d) 7‘%{" g
501/148 e o B




[26. The headquarters of World Health "
' Organisation (WHO) is located in
which city?

(a) Geneva

(b) New York

(c) Brussels

(d) Rome

8| 27. Recently, which company has
| developed ‘Krutrim’, being
promoted as India’s own Al and a

multilingual large language
model?

(@) Oyo
(b) Ola

(c) Paytm

(d) Freshworks

28. Which advanced technology is
" being implemented for Digi-Yatra
to provide seamless and hassle- -
free experiences at Airports?

(@) Facial
Technology

Recognition

(b) Infrared detection

Recognition

27. I ¢t &9, fan @ 3 g9z =

26 feme fHI3 Hess (WHO) & W]
. =339 faw Wit &9 Wi 37

Xa) ﬁ??ﬂ%"
(15) fsGeraa
(c) e

(d) oH

Ve

e Al M3 fEg "gg-gHTEr S5
gH ¥ U 9 ygfer w faoy
H'38, WH(Knltnm)ﬁa'ﬁ:IE
aﬂ?%o, o

il e

(a) ga

(b) &3
() UShiH
(d) JH=IaH

28. Tt it 73 faafews w3 i
I3 wigs=e yEs, F9s BEt foeft-

w39 et faadt Mufsg IsasHt
ma‘lzﬁwéa?ﬁ?

. 10,

(a) Tog9 &t vae x5t
(b) feaedas 8x

(c) Voice -
Technology (€) W=H UE'S II&SBHL
RFID tracking (d) RFID 23fdar
(11) [P.T.O.



29.

1 30.

Consider the following statements :

Statement I : Fiscal deficit is the
difference  between  total
expenditure and the sum of
revenue receipts and non-debt
receipts.

Statement II : Primary deficit is
derived by deducting capital
expenditure from fiscal deficits.

Which of the statements given
above is/are correct?

@)
(b)

Statement I only
Statement II only
(c) Both Statements I and II

(d) Neither Statement I nor

Statement II

Which of the following is/are
correct regarding the ‘Reverse
Repo Normalisation’

Statement I : It refers to the
lowering of the reverse repo rate.

Statement II : The process of
normalisation is aimed at curbing
inflation.

Statement III : It v'vill make it
costlier for businesses to borrow
fresh loans.

(2)

Statement I and Statement II
only

Statement II and Statement
III only

(b)

Statement I only

()

(d) Statement I, Statement II,

Statement III are true

29.

30.

ﬁl:ﬁﬁ wret 48 HB@},@
gyt o3 A9y
Wéﬁsm‘o’nhail

FE5 11: Hes wer &3t we fy
gﬁuaf@rr'f:%uw&fgwai@al
Gug &3 a¢ FEe' 39 Ty
J/T57?

() THae TEa I

(b) fAge JEs 11

() =< J°9& IM3 II

d A TS 13 & Ff T\
‘fggn 3T sovTHNHS € F¥Y
39 Iz fefiprt f&5 faozr Wi
J/TE?

TS 1: feg foeaw 37 =9 § wese
o I fder I

TS IL: SIHSEHs ot yfafe|
T G Hidaret § Saer 3

@S I : feg qragrgt wet 52 a9
B8 & Hidar g 239

() THIZ T8 1% aqus 11
(b) fHos S85 1w g5 1
(c) fhee Tu3 ]

(d) =85 1, 965 11, F5% 1 AN 9

s01/14-B

(12)
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32.

§01/14-B

@1. Which of the following can be 31. fegst fag famg % gI35 HIBS
termed as the components of
Balance of Payments : (Balance%of Payments) 2 g o
H HAT J ;
(i Current Account
() Hger ygT
(i) Capital Account P
i) YAl 93T
(iti) Errors and Omissions (i) : )H::s' ot
' iii) ISIPAT IHP
(iv) Foreign Exchange Reserves () fe2rh 0
Select the correct code from the L aus f iz v
following options : 3’:ST 1‘?@' 9wt 93 & T2
dd :
(@) (i), () and (iv) only @) 0 ('i}n@ i)
a) THIS (i), (
(b) (ii), (iii) and (iv) only (b) ), (@) S )
€ @and (i only © faes ™3 @)
(d) (), (@), (@) and (iv) d) (), @), (i) "3 (iv)
Which of the following statements N . = e
is/are correct regarding Netaji 32. 53] HZQ.’H. 9€9 g7 ¥9 J&7 o3
Subhash Chandra Bose? qusT &9 faggr mft I/357
Statement I : Netaji actively I: 33+ & 1930 ¥ [+
participated in the Salt ﬁﬂ’g‘)H’lHIfa %g Hd(”dl'ﬁ XS ﬁ'HT
Satyagraha of 1930. fon i
Statement II : He vehemently CFESI: X35 3 1931 9 arid-
opposed the signing of the P
Gandhi-Irwin Pact in 1931. [Egies MHYS 3 BAIWE 995w
a3 fedu fizml
Statement III : ‘Forward’ was the :
name of the newspaper started by FES I : 637 Ht ©aT §yg 3 o
Netaji. »MYEd €7 &H ‘TILI3’ H
Select the correct answer using It a3 fegsyt ot =53 I9 7R
the options given below : g9 & =55 -
(@) Tand II only () 98 193 11
(b) II'and III only (b) fAIE w3 11
() Iand Il only (c) TAIE I1%3 1
(d) I, 1Iand I (d) I, II, w3 I
(13) [P.T.O.




33. J&5 ot f&9 faadh feusy

33. Which of the following is/are
statutory bodies? Hraat 3/367
(i) SEBI (i) WHl (SEBI)
(i) National Commission for (i1 THedt afugs 39 FfEsdien
Minorities '
(iti) Union Public Service (it1) =|E;I 5 UHIES AIIH dHT
Commission (iv) I= IfHES
(iv) Election Commission ). et HA wifgarg afHES
(i Nabional CHHTIMEAD Stright Jst £33 fageyt &5 At a3 €t d=
Commission a
dd :
Select the correct code from the +
following options : (&) @) @, (v)
i b) (i), (@), (iv), (v
@ 6, i) (v e
. ) (c) (@), (iv)
(b) (1), (@), (iv), (v)
(© (i), (iv) (79 e
(d) ‘All the options 34, HIIHT It w9 ST Y 91 qEs
.t ﬁé‘ ﬁ '? - e v
34. Which of the statements given L oL 8 ﬂ?ﬁ ﬁ/ I57? I& 13
above is/are correct regarding TG 3 T 99
Mahatma Gandhi? Consider the 0 U x
Jdg6 1: H3Ed \Sare
following statements : . 1932 ﬁ—gg, S o
HIHE WHt T &8 yar ms3
StatementI: In September 1932, T ot FERT %
he negotiated the Poona Pact with '
Muhammad Ali Jinnah. TWEII: §957 3 Hoggeg {9
Statement II : He established the 1942 f&9 fderzat Yyg'g HI' <t
Hindustani Prachar Sabha in HEYSET it
1942 in Maharashtra. .
XS I : §Ia Hind Swaraj or
Statement III ;: He wrote the book .
I
Hind Swaraj or Indian Home Rule. ndian Home Rule fagme fedtl
(a) Statement I only (a) THIZ o5 1
(b) Statement II and III only (b) T35 55 1193 111
() StatementIand IIl only (©) T8 S8 13 1
(d) Statement III only (d) fAT= F¥s 11
501/14-B (14) . g




36.

37.

38.

Chandra Shekhar Azad
(d)

Vinayak Damodar Savarkar

The first Winter Olympics were
held in 1924 in which of the
following countries?

(2)
(b)
(©
(d)

France
Canada
Sweden

Germany

Eisenhower Trophy is biennial
championship and is associated
with which of the following sports?
(a) Tennis '

(b) Chess

(c) Football

(d) Golf

Who were the members of the
Indian trio that secured the gold
medal in the Women’s 25 m Pistol
Team Event at the recent Asian
Games held in Hangzhou, China?

(a) Manu Bhaker, Esha Singh
and ‘Rhythm Sangwan

Ashi Chouksey, Manini
Kaushik and Rahi Sarnobat

(b)

35. Who among the following was the 35. »ifgs= I793 AT = HAEVS J3|
founder of the Abhinav Bharat fofimt f55 3= 7
Society? ]
. (a) gar3 fAW
(a) Bhagat Singh (b) 52y
(b) Lala Lajpat Rai

36.

37.

38.

(c) TI<9 AYg MHE
(d) fesfea ¥HEd A'=IIT

ufgdt Hae 93 G3ua 437 1924
S8 Jo fodhn f&5 fam 2w &S
JeEt 7S ?
(@) &I
(b) &7
() A35
(d) TIHAT

WEHad=d 9 S-AET
& fan &8 gt 3t 97

(a) <fom

(b) HI4d

(c) SIS

(d) diBe

iz T giag fou o5 &t <9 Iewrt
et 837 fed wigs™ @ 25 fieg
fise = gadt foadt @ fiwg 3=
HG? '
(a) W& Fag, €mr fAw w3 faeu
(b) Wt SaHt, Wisst s »3

: . It HIEE3
(c) Esha Singh, Manini Kaushik A -
and Sift Kaur Samra (¢ ¥wr fiw, wisat Ifas 3
(d) Sift Kaur Samra, Ashi fAES =3 e
Chouksey and Rhythm (@) frez a9 AHaT, wrEt JaHt 3
N Sangwan ICESRGICIEES
| S01/14-B

(15)

[P.T.O.



39. Which of the following won the
Oscar for Best Feature Animated
Film held on 13 March, 20237

(a) The Sea Beast
(b) Puss in Boots : The Last Wish
(c) Guillermo del Toro’s Pinocchio

(d) Marcel the Shell with Shoes
On

40. At the 69th edition of National
Film Awards Ceremony, the
prestigious Dada Saheb Phalke
Award was conferred on which
Bollywood actor?

(a) Alia Bhatt

(b) Kriti Sanon

(c) Allu Arjun

(d) Waheeda Rehman

41. Which novel is not created and
written by Charles Dickens?

(a) Great Expectations
(b) Hard Times
(c) Little Dorrit
(d) Vanity Fair

42. It is bounded by Kazakhstan to
the northeast, Russia to the
northwest, Azerbaijan to the
southwest, Iran to the south, and
Turkmenistan to the southeast.

Which sea is being referred to in
the above statement?

(a) Caspian Sea
(b) Arabian Sea
(c) Aegean Sea

(d) Red Sea

39.

40.

41.

42,

(d) =Jter sfoHs

3= T 29 fan & 13 Hay
2023;”5?{3?@%{7%%

(a) The Sea Beast
(b) Puss in Boots : The Last Wish

(c) Guillermo del Toro ’s Pinocchio

(d) Marcel the Shell with Shoes
On

gHedt fesH YgHEd AHGT € 693

yIRad fan IS »EET § YT
gtz famr Hi?
(a) W& de
(b) Tt Aas

(c) "B »IdS

03T &<8 IIun fsqad ond
&t gfon w3 fafimr famr 37
(@) Great Expectations

(b) Hard Times

(c) Little Dorrit

(d) Vanity Fair

fezr@ S9-y9m I qangs,
IST-USH T8 gH, Tuz-Tan

so1/14-B

(16)

TT-y9Y ¥ 3 i
fufenr 3fenr 31 Quiam Fux g
1o IS = fireg aftar v i 317
(a) s A

(b) 3J° AT

(c) Tz Ararg

(d) TS A9g i
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43.

44,

46.

Which one of the following is the
westernrnost island of Indonesia?

(@) Java
(b) Sumatra
(c) Bali

(d) Lombok

Which of the following mountains
of Andaman & Nicobar Islands has
been rechristened as Mount
Manipur?

(a) Saddle Peak
(b) Mount Harriet
(c) Mount Thullier

(d) Mount Deoban

. Name the river which was famous

as Purushni in the ancient times.
(a) Beas

(b) Ravi

(c) Saraswati

(d) Chenab

Which of the following was a ruler

of Delhi Sultanate who stayed in
Bathinda? '

Hi?
(a) Balban ) g —
(b) Itutmish (b) f'e‘ggg'ﬁ.m
(c) Qutab-ud-din Aibak (c) FIT-Gu-<ts Nua
(d) Razia Sultan (d) Iefhor IS

43. J&' a3 29 fagzr &8s = ||

44, M3Hs M3 feagg oy T It &3

45. G Tfon™ =7 aH F 7 yHfis a5

46. I fafimt 139 fagzr fiodt As3s3z

2 YeHt ey 97
() A=

(b) BHHI

(c) T3t

(d) BHER

HaT I famr 32 '
(a) AsT Ui

(b) WEe Idftee

(c) HE<e gEnig

(@) HEe S=Es

&9 ygmdt T a1 a3 yfify Ht
() fommm

(b) T

(c) AIA=H

(d) 9o

T "HA W A =5fesT f&g sfofonm

1801/14.B
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47.

<8.

49,

50.

Which of the following districts of

Punjab do not touch the
International boundary?

(@) Tarn Taran
(b) Amritsar
(c) Pathankot

(d) Kapurthala

Which of the following is a local

name of low lying regions located
adjoining various rivers. in
Punjab?

(@) Mand

(b) Bet

(c) Changar

(d) All of the above

Which of the following is not a
tributary of river Satluj?

(@) Soan

(b) Beas

(c) Chitti vain

(d) Parbati

When was the Central Institute of
Post Harvesting Engineering and
Technology-CIPHET founded in

Punjab Agriculture University
Campus?

(a) 29th November, 1988
(b) 29th November, 1989
(c) 29th December, 1988
(d) 29th December, 1989

48.

49,

50.

=

(b)

<9 ficos fEﬂ‘c‘TFq@z g e
TIRARET  feustufsar w3
ST BHI-CIPHET &t wanyzr aﬁ ;

At ot Hi o

(a) 29 &<99, 1088
(b) 20 adwg, 1989
(c) 29 THET, 1988
(d) 29 THEg, 1089

S01/14-B
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51.

52.

53.

54.

801/14-B _;'

Sachkhand Express, a train of
Indian Railways runs between
and stations.

(a) Amritsar and Patna Sahib

(b) Amritsar and Huzur Sahib
Nanded

(c) Anandpur Sahib Ad Huzur
Sahib Nanded

i
(d) Anandpur Sah1b and New
Delhi _:k «

Which of the following Harappan
sites is not situated in present
Punjab? 5 ‘

(a) Sanghol J

(b) Rohira

(c) Kotla Nihang Khan
(d) Kalibangan -

The term Punj-aab i.e. Punjab is
derived from language.

(a) Persian

(b) Arabic~

(c) Greek ;

(d) Latin ‘

Name the writer who wrote the
next story of Puran Bhagat

approximately four dqudes after
Kadaryar.

(@) Kishan Singhi Arif “ _

(b) Shiv Kumar Batalv.i;‘ :

(c) Gurmukh Sif}gh Musafir
(d) Pritam SingH, Saﬁr

51.

52.

S53.

54.

gadt I8 t foq IBarst, HOWs
WISHYH w3 AIHGT <
fegara gt J1

(a) »ifHEHT w3 Yoo Afod

(b) »fHZHT W3 Jgg Aoy &'e=
(c) &UYg Aifog w3 Igd HidH

EES
(d) »deyd Afag w3 & o8t

Jo feftmit &5 fagzr g™ A6
Hger dary foe Afes &t 37
() WIS

(b) Sf=

(c) ez fadar ¥s

(d) SSEar
Ja-ng WIE3 YA HEe
g 3 foum faprm T

(2) =TIHL

(b) nigeft

(© Towol

(d) Tt

FEIWT 3 BINGT 979 IId g,
YJs A3 T 7 AT fanT QussEy
3, €7 T 99599 I T5°?
(a) fams fAw wrfge
(b) fH= gH9 et
(c) I fAw WAT=g
(d) Yi=H fiw v

Jf

(19)
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55.

56.

57.

58.

According to Sikh traditions,
which of the following places in
Punjab was the meditation place
of saint Namdev?

(a) Sanet
Ropar
Malerkotla

\',;
Ghuman

Which of the following Silsila
affected the Indian Sufism?

(a)
(b) Chisti

Suhravardi

(c) Nagshbandi
(d) Al of the above

Which of the following personalities
used the local symbols i.e. suhag,
chaap and tilak in Qawwali?

()
(b)
()
(d)

Malik Muhammad Jayasi
Amir Khusrau |

Abul Fazl

Waris Shah

Which of the following statements
is correct about Fateh Burj?

(a) It is 328 feet high

(b) Itis octagonal

(c)

It is built to commemorate the
victory of the Sikhs over the

Mughals

(d) All of the above

56.

57.

58.

@) feg wa &

fsyafoys &3 fam auHM3 3
J=dgt fi9 mEex fHgT mIETs,
FaaT, I w3 38 & =93 &
J? :

(@) HisE HIHE AveHt
(b) »HIT YA

(c) »ES HS

(d) =ford "g

2P 5o 9 I fofiont 725 F]
g5 At 97 ‘
(a) few 3283 €57 3
(b) feT nizaer &

© fov vt €3 fitet & iz &
we &9 s=fonr famr &
d) feg 73 &

s01/14-B
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__

60.

61.

62.

63.

[59. The government of Maharaja

Ranjit Singh was called
(a) Diwan-i-Khalsa

(b) Sarkar-i-Khalsa
(c)v Dal Khalsa

(d) Sarkar-i-Ranjit

How many times did Maharaja
Ranjit Singh attack on Multan
from 1802 to 1818 CE?

(@) S times
(b) 6 times
(c)
(d)

7 times

8 times

Which of the followiflg places was
visited by Guru Nanak Dev Ji
during the Second Udasi?

(@) Dhaka

(b) ‘Kurukshetra
(c)
(d)

Guntur
Shillong

Which of the following personalities
helped the Guru Arjan Dev ji to

- compile the Adi Granth?

Bhai Mardana Ji
Bhai Daya Singh Ji
Bhai Gurdas Ji

Bhai Mani Singh Ji -

@)
(b).
(©)
(d)

When was the Treaty of Bhairowal
signed between the British and the

Sikhs?

(a) 24th December,
(b) 25th December,
(c) 26th December,
(d) 27th December,

1846
1846
1846
1847

59.

60.

61.

62.

63.

HIoHT g3 fiw & wIda 3
_ fagr wier Hh

(a) d=TE-T-HBHT

4b) FIAI-T-HTBHT

(c) =B HBH

(d) AIII-E-IHI3

HaaT gedis fiw #t 5 1802 3
1818 Higt 39 woa® '3 fdat =9
IHS A3 ?

(@ 59

(b) 6 <9

() 7<d

(d) 8F9

ondt Qo 28 H 99 sex <= Ht
3 J5 fefirt &5 fam mEs &
w3qT i3t Hi?

wrfe ofw § Aase =96 9 I
fodtt &5 fam mur3 & ot I
wITs o= Ht &t Hee it W2
(a) I HawaT Ht

(b) st sfenr fiw

(c) 3 Igew Ht

(d) e WAt fiwr ft

widgwT W3 figt fegag 33= <
Adt 8 I H?
(a) 24 TH¥d, 1846
(b) 25 THYd, 1846
(c) 26 THEd, 1846
(d) 27 THEd, 1847

801/14-B
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64. Which of the following was an
outcome of Jaitu Morcha?

(a) All Misls became united

(b) British government agreed to
leave the Punjab

(c) It led to Second Anglo-Sikh
War in 1848

(d) Gurudwara Act was passed in
1925 :

Instructions : In the following questions
(65 and 66), select the related word
from the given alternatives :

65. Where : Place :: When : ?
(a) Why
(b) Then
(c) Time

(d) None of the above -

’

66. ‘Cinema’ is related to ‘Audience
in the same way as ‘Church’ is

related to

(a) Congregation

(b) *Meditation

(c) Concentration '

(d) Prayer —

67. Select the option in which the
words share the. same
relationship as that shared by the
given pair of words :

Ear : Tinnitus

(a) Eye : Ophthalmologist
(b) Skin : Acne

(c) Joints: Muscles

(d) Nose : Nerve

64.

azfss&féé‘faraafﬁé‘ﬂa'%@

(@) T fimet fese & e

(b) fgfem waerg dAe &3S o
fanrg I aret

() fem &% 1848 feg gam HarB-
fiy gu Jfemr

(d) TIEwraT wee 1925 f&9 UH
SftgT fandm Ht

Jefear: 35t 93 RSt (65 M3 66) 129,

9 :

65.

66.

67.

53 91 feguyt 55 Hdfazg wee €t 9

fa”%::m::aé:?

(a) fa€ -'

b) feg

(¢) FHT

d) Bug =fon fed St & =t
I ‘Se¥ T HEY _____ &S I
(8) WS

(b) fs

(c) Teda@sT

(d) YIEsT

87 feasy 38 fim 1S9 wue 64
HEU H'Y 93¢ I6 1 mEef @ 99 93
o9 7Y a3 I I8

ds : fésten

(a) WY : 339 fefamrst

(b) OHST : fo=r

(c) #F : HHUH

d) ¥ :wAF

S01/14-B
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68. Select the number pair in which
‘ the two numbers are related in the
same way as are the two numbers
of the following number pair :

25 : 600
(a) -16 : 256
(b) 20:420
(c) 14:210
(d) 18:306

69. Select the option that is related
to the fifth number in the same
way as the second number is
related to the first number and the
fourth number is related to the
third number.

9:102::11:146::13:?
(a) 198
(b) 171
() 175
(d) 200

Instructions : (70 and 71), In each of
the following questions select the related
letter from the given alternatives :

70. ORS : NQR :: GHK : ?
(@) HIM
(b) FIL
(c) “HIL
(d) FGJ

71. LENOVO : EKISSQ :: FINGER : ?
(@) YOIJBT =
(b) YOIKBT
(c) YNIKBT N
(d) YOIKCT

72. In a certain code language, if the
word CLIMATE is coded as
IAECLMT, then how is the word
CALCULATE coded in that
language?

(a) AUEACLCLT
(b) AUACELCLT
(c) AUAECLCLT
(d) AUAECLCCT

- 68. ST Hitmy T 3 faw S8 T At

8 37 Hefus g5 = fa 35 i3
Aty 13 St 2 A=t I8

] 25 : 600

(@ 16:256

(b) 20 :420

() 14:210

(@) 18:306

69. g feamy I 7 Ud< 399 &
Feus I B8R 397 fA= fa g du9
yfgS 399 S AEUS I M3 I
359 97 8909 &% AEUI JI
9:102::.11:146::13:7
(a) 198
b) 177
(c) 175
(d) 200

gofezr: 35 13 yms (7o w2 71) TS, 3

It fegsyt f&9 Aefuz g H I &3 ¢

70. ORS: NQR :: GHK : ?

(a) HIM
(b) FIL
(c) HIL
Id) FGJ

71. LENOVO : EKISSQ :: FINGER : ?
(a) YOIJBT
(b) YOIKBT
(g) YNIKBT

YOIKCT

72. f€9 v/ 43 IwT fd9, 799
CLIMATE He< § IAECLMT &+ a3
dizr fapr 9, 3t G g fog
CALCULATE Hu¥ § fag a3 i3
famr 32
(@) AUEACLCLT
(b) AUACELCLT

(c) AUAECLCLT
(d) AUAECLCCT

§01/14-B (23)
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73.

74.

Seven people Paul, Queen, Rax,
Sam, Tom, Unif and Vali are sitting
in a row. Rax and Sam sit next to
each other. There are exactly four
people between Queen and Vali.
Sam sits to the immediate left of
Queen. If Paul and Tom are
separated by exactly two persons,
then who sits to the immediate
right of Vali?

(a) Paul

(b) Tom

() Rax

(d) Unif

Arrange the given words in the

sequence in which they occur in
the dictionary : &

73.

74.

gzﬁ%’m%a@féamﬁaﬁ%
I51 35 w3 iy T oA € 9% €5
gﬁsm@aﬁ%ﬁmmm
&5 I51 B, geie 2 343 U8 UH
a3 3 Us w3 W fasIs 2
ﬁvﬂas“mr'fwéusﬁ%aéaa,?
= T 393 Wy uH Je §IET 7
(@) U8
(b) o
(c) I
(d) gate
f53 o weet § 87 @ <9
foonfaz 35 fam &9 G0 mu=aw

(o &}

) Range o w3 75
(i) Rader , i) Range
(1.u) Racle{ : (i) Rader
((‘lj;) RZ; : (iii) Race-
iv)- Rack: ‘
(@) (i) (i) (i 0 () R it
O O & (&) (i), @) (i, () (v
Qi) i), v o 0 (b) (i), (iv), (i), (v), )
, (1), (), (V) : (c) (i), (ii), (i.v), (i), (v)
75. Rama, Bhima and Bond have to (d) (i), (i), (iv), (v); (@)
take two articles each from the t R
available six articles, such as Gun, 75. I, StH »3 &3 & Quee B I f
Bow, Arrow, Mace, sword and T-o I & I8, e é’ga’, JH'S,
Dagger. Bhima will ngt Btakg: tl?ﬁ Hg, 9, 359 i ¥ Ihe e
Gun or the Bow, and Bond Wi : s =
not take any of the Sword, the Bow Et.” En; wﬁé aé}”%m 33<, S(HO'E.S
or the Dagger. If one of the three ' ‘ﬂ? Bar| Hog 186
people takes the Sword and the £55 iz foriaSt 3B=9 w3 I & ST
Mace, then what is the other item 3, 3 dga & 5T w05 TH foieS
:ﬁtecé(:; Sy the person who selects o 59 faodt 9 5 TR 3o
(a) Bow (a) Eﬂ?{am 3
(b) Arrow (b) d
(c) Dagger (c) d¥dd _
(d) Cannot be determined (d) feauas At iz 7 HaeT
801/14-B (24)
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76. Shiva brought 4 boxes, each of a

77.

801/14.B

different colour (Red, Orange,
Yellow and Blue). Each of these
boxes contains sweets of a
different name. He distributed one
box to each of his four friends.
Manju received a Red coloured
box but not Eclairs. Either Blue
or Orange coloured box is received
by Sanju. Tanooj received Kit Kat.
One of them received Bar One
while Pooja received neither
Yellow coloured box nor Dairy
Milk. If the Orange coloured box
contains Diary Milk, then which
of the following is true?

(a) Tanoojreceived Blue coloured
box

(b) Eclairs is in Yellow coloured
box

(c) Bar One is in Red coloured
box

(d) Sanju received Bar One

Vinit, Karan, Santosh and Sid
participated in a race. No two
people -ran with the same speed.
Speed of Karan is more than that
of Santosh and Sid finished the
race before Vinit finished. It is
known that Karan did not finish
the race before Vinit. The speed
of which person is the lowest?

(a) Vinit

(b) Karan
(c) Sid

(d) Santosh

76.

77.

(25)

fHE & 4 39 fonie, 99 fia 243 Jq
(5%, "A3dt, iz w3 ator)| fegst
fe9 g9 f8a 39 feg ffa <99 &
Ihort fisTEh 51 BRs »iuE I3
o3t & fEa-fig 397 23 o371 vy
% Jar = 397 fHfgw ug
TSI &dil Ag § AT 3T BST A7
A3t Sar = 39 fiferr 313507 &
fae &e yuz i fegt f<9 fda &
g9 <5 fHfenm mefq yar § & 3°
I8 Jar = g fufen w3 & &
Sndt fusdl 399 H3dt da1 € 39
feg 3vdt fisa 9, 3 fogst &9
fagg 79 972

(a) 357 & BIS Jar €7 397 THfgnr
(b) Tadnmar WIZ Jare 39 9 I
(c)
(d) HY & 99 & Y3 137

(o E

)

g9 25 3% df @39 feg 9

o3 fg fom four adft € 72 foa
JS39 IS St I3 IS &t w3

ufgst ot In ydt 39 B o
7o J fa feiz 3 ufgs g9 3 I/
ydt &t fiFt Hh fan fouadt
IS HT I we T2
(@) feiz
(b) II&
() fH3
. (d) #3m

[P.T.O.



78. The class teacher has posed two

questions A and Bto 160 students
of her class. 65 students could not
answer question A, 80 students
could not answer question B and
40 students answered both the
questions. How many students
could not answer any of the two
questions?

(a) 25
(b) 30
(c) 40
(d) 15

Instructions : (79 and 80) are to be
answered using
information.

the following

In a class, 30% of the students
gave their names to participate in
the NSS and 75% to participate

78.

JerfesT: (79 3 80) T A<H J& fIdi|
Tt &t =93 S9d fa3r A JI

in the NCC. Three students v
participate in neither of these two, NCC & 31 8¢ BEt MU o 31
and six students wanted to 35 fefanradt fogst o=t &9 fan &9
participate in both. & £ s B3 w3 2 R 8 S
79. How many students are there in feg famr 8= G":{i% A&
the class?
(a) 100 79. I 9 fI& fefonrmadt g52
() 120 (b)%60
(c) 120
(d) 80
(d) 80
80. What percentage of students
wants to participate only in the 80. 45 yFws fefenradt fge Nss
NSS? fog o1 B TR 950
(a) 30% (a) 30%
(b) 15% (b) 15%
(c) 20% (c) 20%
(d) 25% (d) 25%

F8H 99 & vy I8H € 160
fefonradinr § € AE® An3 BUS
J51 65 fefoadl AT S AT A<
& © Ad, 80 fefenadt A='® BT
729 34 @ AY w3 40 fefonradt
33 geogt @ Aey @ Adl fdS
fefonradft @ mee f&9 fan =
=g &4 € 77

(a) 25 '

(b) 30

(c) 40

(d) 15

fé”amﬁq, 30% fefaniadst &
NSS f&g g1 & TE M3 75% §

so01/14-B
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 Be: 3o o ymst ¥ €39, Gu' @ Ist U3 feqwyt 9 g a feb/@3q Hie '3 wow
iy i

|81, T 575 fotmr o 9 Jo YR = 95 fofmr £ faogr gu 97

(a) SU-IT&, AUTS JU

(b) Rx-=93, Hu9s QU
(c) fea-=vs, Feudt qu

(d) ¥U-=9&, HeUdl gU

o2, = Fee @ 9g-%96 = gu-gu fager 97
(a) foHEar _ e
(b) TIHItar

' © s

d) fIust

‘, 83. Iz fafiput f55 d99r wue o feine fenzdt-fdar qu w8 .

80 —_—
| 1/14.B (27) [P.T.O.




84, ‘A’ wdIZd B9 § ¥es <O At HEE T
(a) HE™
(b) FES
() FER

(d) A=

85. ®" U839 B9 ¥ ¥os T At WET 9 ¢
(a) WIS
(b) H&
(c) foasr
(d) TaHsT

86. HJI HE=-13 ¥ :
(a) Ae™3
(b) H&HI
(¢) HENHI

(d) HEHI

87. J& foy =9 {29 ga=e Wue 9< d YS!l AES 99 :

fafgn T 82-3 82 gu, 7R 3 fafenr T gt 779 9y =2 U3, §
T g

(a) Sfeudt »irfom Sug
(b) TIHIT YUY |
(c) faa<3

(d) fafer™Y&

so1l/14-B (28)




88. J& fofimi fog faggr wifaar wae 3, oz fdA-Tv99 usse &  Aaer I 3
UIH -9 UZS'E =17

-

(a) MUH
(b) MY
() ¥<

@ 3

=

89. gz wET T {87 »igg I, Iz’ Iz fofimit &5 I faoar »eE I Aaer J72
() 3R
(b) S
(c) WarzT
(d) yfret

00. Iz fufimi £ faagr Yt HEE ‘subordinate staff’ 2 »Jg" § YEeger J°?
@) fimme yeft
(b) »dls WHST
(c) faaufad »H3T
(d) wfeadt
(a) MEET
(b) W&
€ TS

(d) M3&

S01/14.B (29) [P.T.0.




93.

94.

95.

92. HT=T : 3B I Jer oYl gET wOE I 1 ‘

(a) 39T J A

(b) g3 It 8w § A<

‘maﬁwﬁném—mﬁeﬁwwa@rm@w@ﬁ%—xﬂzifm
@w%ﬁqwm”@e@ﬁwmmmﬂm? |

(2) ﬁ?ﬁwaﬁwaﬁzﬁmew

(b) it € fesr i, 3T U39 3 dt

(€ fagr ¥4 »muE, 9 ¥ W9E

(d) ﬁwwﬁua@ﬁ@wa&@@mé’zﬁ
(@) IS

(b) wfaag

(c) ¥

(d) =uHt

s01/14-B (30) B




06. Parts of a sentence have been jumbled up. Arrange these parts in a meaningful
order.

(ii) the result is the achievement of goal
(iii) organised in the right manner,
(iv) talents in the country and when they are

. Choose the correct article.

| 98.

P | 99.

. Select the correct pair of homophones to fill in the blanks :

‘301114-3 , (31) .

(i) well in the time and within the desired cost

(v) The public sector has one of the best
(@ (v @) (i) [@)(i)
(b) (v) (i) (i) (i) (iv)
(© () @ @) () (iii)
(d) () (i) (iv) (i) (i)

There is _____ university close to Kamla’s house.
(a) the '
(b) an

() a

(d) No article 3

are the sounds of many helicoptérs.
(@) This

(b) That

(¢) Them

(d) Those

Choose the one that can be substituted for the given words :
Having many different types of things

(@) confined

(b) uncoloured

(c) miscellaneous

(d) undiversified

(i) My legs and feet drew a lot of attention, especially my ankles and
(ii) We have time to rest and recover and
heels, heels
(b) heels, heal
(c) heals, heel
(d) heals, heals

—____ourinjuries,

[P.T.O.
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101. Choose the correct word.

The shop hasn’t opened :
(a) yet

(b) so

(c) and

(d) though

102. If you feel chilly, you might close a window that is letting in a draught.-
What does the word draught mean in the above sentence?

(a) A cold burst of wind

(b) A scorched spell

() A storm blowing from the sea
(d) A bout of aridness

103. Select the one which expresses indirect speech.
The boy said to me, “Can you give me a pen?”
(a) The boy said can give a pen to me.

(b) The boy asked you can give a pen‘to me.

(c) The boy asked if he could give me a pen.

(d) The boy asked me if I could give him a pen.

104. Pick the correct alternative which best expresses the same sentence in p-assive
voice. ' o

The chef prepared all the dishes.
(8) All the dishes were prepared by the chef.
(b) All the dishes prepared the chef.

' () All the dishes were prepared by the chefs.

(d) Were all the dishes prepared by the chef?

105. Choose the correct spelling:
(a) Stoopendous

(b) Stupendous

(c) Stopendos
(d) Stupendis
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106 Select the most appropriate Synonym of the glven word
. Abandon ‘

(@) Allow

(k) "Relinquish

(@@ Continue

(d) Hold | _ ‘ !

. Select the most appropriate Antonyﬁ of the giveﬁ word : ;|
Dainty ,
(a) .Elegant
(b) Tasty - ‘
(c) Neat ; tt sbhemybeat o efsterioo
(d) Crude st ‘et BRI || 10l geuyiens aeo

ST S)eily [OLTE

|108. Fmd out which part of the sentence has an error. If there is no error, then the
answer is (D).

‘ 3

All the jackals (A) was in despalr (B) but one Jackal was very happy (C) No
error (D)

(a A | ‘
© C . ' b 1aVC
{d) ~D:’

. Check the correct meaniné of the following idiom /phrase : S
Under the weather 3 :
(3) be well g | |
(b) be alert ’ |

(c) ~not well . , S IR
(d) when the weather is not good |

. Select a word which means the same as the group of words given : |

A large cage, building, or ehclosure;for'keeping-bi'rds ins 1o
i

. (a8) Aviary x

(b) Carrion ? t

Apiary |
Estuary.

(e3]) [P.T.0.




111. What is the purpose of the ‘Slide
Master’ in PowerPoint?

(@) Apply design and formatting
to all slides in a presentation

(b) Create animations for
individual slides

() Insert hyperlinks in a
presentation '

(d) Record narration for a slide
show

112. Which File consists of readymade
styles that we can easily use for
our presentation on PowerPoint?

(a) Preformatting
(b) Template -
(c) Wizard

(d) AutoStyle

113. Which protocol is commonly used
for secure communication over
the internet?

(a) HTTP
(b) FTP

(c) SMTP
(d) HTTPS

114. What is ‘phishing’ in the context
of cybersecurity? ‘

(a) A type of malware‘

(b) Unauthorized access to a
network

(c) Social engineering attack to

sensitive information

B (d) Data encryption technique

trick users into revealing

111, U=aunie fe9 ‘ASTEIE HTHST! ¥
i -

(a) Presentation €9 AT
reEtst '3 fsarets w3

ToRféar § T @
(b) Individual AITEIST TE]
WéAHs gger J |
(c) fea presentation fds

TESfEaH HHS F9€T 9
(d) &= Ao & B narration

s daer 9

112. faosht odts &9 38ts Hedts T3,
T o yrmamrfee 3 nimyd URad]
Bt WA 58 =93 ASe IT?
(a) lﬁ@_d’ﬂféiﬂ
(b) UBe
(c) fedaas
(d) e ACES

113. féegde '3 FIfm3 AYT et wH|
39 '3 fagar 2oz =afamr aier 37|
(a) HTTP
'(b) FTP
(c) SMTP
(d) HTTPS

114, HTEt9T AIfywr @ Hegy 19
fefdar ot J2

(a) H3T f 7 famr -

(b) fex Bewga 3= wrewfoared

UdJd

(c) ARESHS weardt @ yo|)
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[115.What is the role of the Kernel in
an operating system?

(a)” User Interface
(b) Memory Management
(c) ‘File Management

(d) - Both (b) and (c)

software’ mean?
(a) Software that is free of charge

(b) Software with publicly
available source code

Software developed by a
single company 1

(d) Software that is ' only
compatible with specific

operating systems

: 117. Which of the following is an

example of system software?
(a) Microsoft Word

(b) Windows operating system
()

Photoshop

(d) Google Chrome

04 s

116. What does the term ‘open-source

115.

116.

117.

B 8w Sufear famen

feg Guafdar famen féu 93|
(Kernel) ’eﬁ g‘ﬁ-{_q” CilaN,

(@) T fegem
) A i
© S yius
(d) (b) ™3 (c) €<

t

‘QUE-AIH Hecand’ HEE T o

3y J?
(a) AECIMT # He3 I

(b) 7&3 39 '3 GUBET HIS 93
BT Hacand )

() T fHas ust owmar feawrs|
Heaand

(d) Fecamd 7 fAge T Guaféa
fHAeH € wiggs I

Areeend df Geraes 92
(@) HEREe <9s

(c) @eHy

(d) JarSs IIH

§ 801/14-B
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118. What is the purpose of an IP
address in computer networking?

(a) Identify a website

(b) Identify a computer on a
network

(c) Determine internet speed

(d) Manage email accounts

119. Which Excel feature is used to
automatically adjust the width of
a column to fit its contents?

(a) AutoSum
(b) AutoFormat
(c) = AutoFit

(d) AutoCorrect' -

120. What is the correct syntax of IF()
Function? ‘

(@ = IF (logical_test,
TRUE([value_if_true]),
FALSE([value_if false]))

(b) = IF (logical_test,
[value_if_true], [value_if_false])

() = IF (logical_test,
{lvalue_if_true}}, {value_if falsel))

(d = IF (logical_test
[value_if_true], [value_if_false])

118.%@2&&%&%%@31?%
o ft Hame T2 i

(a) fEx <gATER & uge
(b) Be=ge '3 dfufes & U=
(c) fécase <t ot faguas

(d) € wrnr o yHas

119.ﬁﬁmeﬁ€?ﬁ§'fgﬁﬁm

& wehfeadt fee ags =t fagdt
RS fennaT 29t At 92
(a) WA
(b) MeIIHS
‘(G)’ wéfae 7
(@)
120. IF() SIHG = At H%sm St 37
(@) = IF (logical test,

TRUE([valu e if_true]),
FALSE([value_if_faJse]))

(b) = IF (10gical;test,
[value_if_true], [value_if false])

() = 'IF (logical_test,
{value_if_true}}, {Ivalue_if false])

(d) = IF (logical test :
[value_if_true],’ [value_if false])
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